RS S T 1R S — SR S =P DT

755 SRAE HER | E5y | HigL HiBE T ERREER
1 = EEE L) = —BEES () HEPE | 4 | 24 | EEMEOEBUERE 6/5 12-16H% 6/6 12-16H% 6/7 12-16H% 6/8 12-160F 6/9 8-121% 6/12 12-16H%
2 B EE () @) HE | 2 | 12 | EEEUE4EE 6/6 8-120F 6/7 8-120% 6/8 8-120%
3 | ECEEEEEEHL) = IR EEEH ) HEPE 4 | 12 | (SHEEUEB14E=E 6/10 8-128% 6/11 8-120F 6/12 8-120F 6/13 8-120F 6/13 12-16H% 6/17 8-121%
4 | BEEEEELLD = B EEE (D) HEPE 4 | 12 | (SEEOE31338=E | 6/5 10-126F,14-176F 6/7 12-170% 6/12 10-120%,14-170% 6/13 10-120% 6/14 12-170% 6/16 10-120%
5 5 A ERE S () iRiEE EdiEN HEPE| 3 9 | CEMFESEERIEE 6/5 16-190% 6/6 16-190% 6/7 16-190% 6/8 16-198% 6/9 16-198% 6/12 16-190%
6 = = BB () ZEEIE RS HEDE| 3 0 | [CEfEHEHERZE | 6/10 8-120%,13-170% | 6/11 8-120F,13-170F 6/18 8-120%
7 = AR AN E A HETE| 3 9 SEMIUE 4 E 6/13 12-160% 6/14 12-16H% 6/15 12-16H% 6/16 12-16H% 6/17 12-140%
8 5 BV WED R« B SE— | B2 3 0 | AP EE = () 6/5 13-16H% 6/7 9-120% 6/9 13-16H% 6/12 13-16H% 6/14 9-120% 6/16 9-120%
9 = A EAEER (L) (LEKE—— HEDE| 3 0 | FISEAEY R E R () 6/7 16-190% 6/8 9-12H%F,13-16HF 6/14 16-190% 6/15 9-120%, 13- 160
10 = —EEEY(L) ERerEE - AN | B2 3 9 S IUME 128 = 6/5 13-160% 6/6 8-120F,13-15HF
11 5 SR ) HE BRI KRB | 1 0 | FIFHE R E R = (—) 6/7 9-120%
12 | E=BHEEEEHT) = EEEEHH) HEPE 4 | 12 | (SHEMEUE314E=E 6/19 8.5-12.50% 6/20 8.5-12.50% 6/21 8.5-12.50% 6/26 8.5-12.5H% 6/27 8.5-12.50% 7/3 8.5-12.50F
13 | E=EEEEEL(T) = I EEE (D) HEDE| 4 | 12 | (SEEEE313%E | 6/19 10-120F,14-170F 6/20 10-120% 6/21 12-170% 6/26 10-120%,14-170% | 6/27 10-128F | 6/30 10-120F,14-170%
14 5 A ERES(T) IR R 5 HEPE| 3 9 | CEMFESEEREE 6/13 16-198% 6/14 16-190% 6/15 16-190% 6/16 16-190% 6/19 16-198% 6/20 16-190%
15 = =B EHE(T) IR HE23E| 3 0 | {CE M EHER N E 7/4 8-120% 7/5 8-120% 716 8-128% 7/7 8-120% 7/8 8-120%
16 = AR EEEUEEE HEDE| 3 9 | CEMFESEERIEE 7/4 12-16H% 7/5 12-165% 716 12-16H% 7/7 12-16H% 7/8 12-16H%
17 5 BV E_HET - EHPESE— |HEYE| 3 9 | APy EE ()| 7/4 9-1208%,13-160% | 7/5 9-120%,13-160% | 7/6 9-120%,13-160%
18 = ALY | AL EA - (LERE [HEYE] 3 9 | FIPE EEEREC) 6/16 13-16H% 6/19 9-120%,14-17H% 6/20 13-160F 6/21 9-121%,13-160F
19 =BT | AalREY) - AV EE | 52| 3 9 SEMIUM3 128 6/14 13-161% 6/15 8-120%,13-150F
20 5 —EEHEMELHCT) HE BRI HEPE| | 3 | AP ELE == (—) 6/14 9-120%

A =BAIN

Iadiid SRAE 255 | BiE H B B LiEai|
2] |E=BEHEE (| S=EREEVIEEE(L) | HEE 1 3 SEMIUME3 148 6/5(—) 9-120%
22 | E-REEIEE (L] ESEEPIEEE (L) (B2 1 3 SHEAEIUEB13 = 6/1(=) 9-128%




